AE SBREES KX
BB s 2EHN (A [BEH (M) |[DF8 (&) a5t (&) |ZBEHEEH (F) [BEHESE (F) EEZ (RE)

DEE 104k 2,000 3,000
DEE 9% 2,000 3,000
DEE 8k 2,000 3,000
DEE 1% 2,000 3,000
DEY 6% 2,000 3,500

— & 61k 2, 000 3,000  * * %
DEY 5%k 2,000 3,500

— & 5% 2, 000 3,000 % * %
DEE 4%k 2,000 3,500

— & 4% 2, 000 3,500 % * %
DEE - —f8 3k 2,000 3,500
DEE - —ff 2% 2,500 4,000
DEE - —f8 1#R 2,500 4,000
DERR - —A  FDERAE 3,500 6, 500
DEE - —f8 HER 5,000 10, 000
DER - - XK 5,000 10, 000
— # S 7,000 15, 000
— % SHBiEEL 10, 000 20, 000
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